EARAROBREBRT —5 XN—ZXBISH—F

2023118198 (H) 3ER#6H

Edrema 1BoS2x YSH2® (Ra) (50 56

BRI

[AXE%] 1 & :10,700,000 @ 2 #&:4,300,000 M ~ 33#&:2,700,000 9  43#&:1,600,000 5 3% :1,070,000 M
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
N < )| | e : - BREE (FR)
1 3| T/ IRYEIU— 2 Je 1.(2_0).7 6-5 34.0| 91.6 | 1 zzg;t e
RIE—UR BR—LASVIT(—Y J=HUTr—1L
S J. EUALS : = ZHAE (FEFR)
21111911 LRHYZ 42 e > (12.211/.21) 3-3 34.8| 87.4 | 6 ff(?) %mﬁzﬁ
RiZvF—74) B:FrAIvIR /=Y Tr—I
=1,3 B2 | BHIBE 1:21.2 6-7 34.3]86.2 | 7 | 402 |EKAA ER)
3|55 FILI0O 56.0 (172) *2) EEI‘EEEE§
RiLAFAD B:RAT4TRNUT MEZIY R
way_— 2 | #LAE 1:21.3 1-2 35.2(8.3| 3 472 | HKEX (RR)
4BY | V—DOY—Z=7 " 56.0 (72 (-4) SAATU—RH—Z )
RE-UR B:LwvRUTT—)L HEI77—LA
= ~,= FarEL : - ZILERE (FR)
SOl 4 | TRTARTIVT 2T [ S R A :1+220) SEHC
R:O0—KAH7FO07 B:7vSYIL—F /=Y ITr—1L
Sy P — s 2 | FIHEZ 1:21.5 5-5 34.9(8.1| 5 472 | MTFRE &FH)
6 3 | EyZE== 56.0 G/2) (g | BATER
RYNITSIY BL—YSARIVR RS IS EIN
~) 9 t 2 | C. bX—lb 1:21.6 2-1 35.6| 82.4 | 2 | 506 |EEREE (FR)
717171 7xz>v5— [B] * 56.0 (72 ) |EREHVILD
RE—UR B:FUVEROYVY J=HUT7—L
- LLIASIEZE] : - atsm (th7)
glglg BTTUYZR it 2 E 1.(262).6 8-8 35.6|72.1| 8 ?f(f) ofEa |
R:VYRTFZIVIR BNVEYI—Ta F—IYU—Tr—L
[ BN
En'n 45.9-34.7
NaYgIAL | 12.4-11.1-11.3-11.2-11.2-11.6-11.9
@ 11— —B&IEfI
13—+ —
20—F—
30—7— (x2,7) (1,4)6(,3)8
43—7+— |7,201,4)(6,3)5,8
o ILRE
BB 3 180 JA R 1-3 470/ S & 1-3 1,960 3EE 1-3-5 7,540M
B B 3 110M Bab) 700/ =51 3-1 2,090 3EH 3-1-5 18,500/
1 310 1-5 2,180M
5 370

ABIC OV TRUTEREERRODDZE. THRIIZEL.




